Efficiency vs Dxy(PV)

efficiency vs dxy(PV)

bl

o
©

o
e

0.4

ae

0.

e ! I
=25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

[—— DQM_mMKFIT_TT_retram
—e— DQM_mKFit_TT_NEWdefault_specPLess1
—— DQM_mKFit_TT_NEWdefault_specPLess2

—— DQM_mkFit_TT_NEWdefault_specPLess3

I Efficienc| —— DOM_mkFit_TT_NEWdefault_specPLess4

efficiency vs dxy(PV)

09%7-0.8-0.6-

02040608 1
TP dxy(PV) (cm)

C

Efficiency vs Dz(PV)

efficiency vs dz(PV)

1- -

| S O o aees
0.8fF--- e b de bt
! SO S SO ! I -
0.4 e Sah FER
0.2f--e e P e Eah Feeens
L-w- i i i i

i+
0%30 20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

Ratio

1. N .
SRR SRS SO O .
I T
o.ef— ......... _______ _______ L
910 T
1% FA N N T
b i ;
i o R : ------
i i
-1 -0.5

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


